24 27 4
i 4
cT
40 H24
H2 4 100 H27
4, 406m4 4, 556m7
67 H24 78 H27
0 H2 4 2 H2 7
153 H24 168 H27
H2 4 H25 H2 7
53,703 41 % 1% 79 %
3900ha 0% 10% 10%
4,400m 4,00 4, 0m 4,88
1888 67 % 74 % 78 %
0 2 2
13 16 18
1,809 1,10 10 89 9%
( ) I+ +)

Ha [ H8 [ HB [ HZ

1-A- 15
1-2- 80
1-38- 27
1-A- 6 38
1-5- 78 28
1- 8- () A=1%.6h 50
1-A- () A=94.6h 45

1,1




H2 H3 Ha H2Z
B - ( L=#m30 83
B - ( L=m50 26
10
B - 1-A-13- A-14- A- 5
B - 1- A-13- A-14- A- 5
H2 H3 Ha H2Z
C- 18
e - 2 55
g- 203 16
89
C- 1-A-13- A-14- A- 5
e - 1-A-13- A-14- A- 5

g -

1-A-13- A-14- A- 5




7 %

8 %

1 0%

1 0%

4, 5 0

4, 5n9 6

7 &

7 %

168

173




27

24




24

27

1-A4

1-A3

1-A4

1-A4




27

24

1=A1




